Construction division. Advice for giving credit to contractors/suppliers.

SL No	. — site bills	1	581		Date Regist	site bill er	8	26-	10-22 m R
Comp	any Name:	m	RMLL	P	ite:			9	mR
Name	of Contractor			Janardhan Prarad					
Netur	e of work			tiles work					
2. Out	done	Prom	Date	28	-9-	11	Date		10-22
SI. No.	Villa/Flat/block no	y (Qty.	Rate		Units	Amou	mt	Contractors bill no
1.	D- Block		1128	16		SH		.048/	
2.	Flatro!-4	28	348	16	-	SH	STREET, SQUARE, SALES	568/	
3.	· liles flooring 40		400	18	_	SH		200/	
4.	and Battroom 9			15	_	Str	-	395/-	-
5. 6.	tues work					sh	_	512/	
7.	4'X2'	-	348	4		st	-	92/-	
9.			93	4		set	3	72/-	
9.		-					-	-	
10.		-				-	-	/	
11.		l'otal:					33	3,487	1
Bill	required	DY	ES ZNO.			ired	TYES	NO.	
Measurement &			Measurement & estimate sheet:		t	□ Not e	nclosed		
PO/WO BG.			_	PO/WO date:			-	_	
Rem	Remarks:								
		All the same of th							
App	moved by Project I	Manage	er App	roved l	y De	sign Tear	n A	pproved b	y M.D.
Det			Date); -			D	ete:	
Sign		1	Sign	:			S	ign:	to be been billed

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, cards weak, number civil contractors. 3. Whenever not applicable – fill NA. 4. Estimate and measurement aboots are not required for turnitory jobs where guideline rates are clearly given.

P					Approved by:	Ramprasad	
ar Residency					Sign:		
Flooring and Batl	rroom tiles in 1660 sft flats at D	-block					
an Prasad							
ımar							
022							
		>	Ħ		J	E= AvBvCvD	
ad	Item Description	Length	Width	Height	Nos	Quantity	
lat	vetrified flooring						
looring	SBUA 1660sft (68%)	1128.00	1.00	1.00		1128.00	- 1
g 2' X 2'	Skirting 21%	348.00	1.00	1.00	1.00	348.00	- 1
	(200sft per toilet)	200.00	1.00	1.00	2.00	400.00	
n & utility	(93sft per flat)	93.00	1.00	1.00	1.00	93.00	
							1
	Gulmohar Residency Vetrified Flooring and Batl Janardhan Prasad P. Sai Kumar 26.10.2022 Item Head D-408 flat 4' X 2' flooring Skirting 2' X 2' Kitchen & utility	ar Residency d Flooring and Bathroom tiles in 1660 sft flats at D an Prasad umar 022 ltem Description lat vetrified flooring looring SBUA 1660sft (68%) g 2' X 2' Skirting 21% (200sft per toilet) (93sft per flat)	Residency Reside	Residency	Residency Reside	Residency A B C Prasad Item Description Length Width Height vetrified flooring SBUA 1660sft (68%) 1128.00 1.00 1.00 YX 2' Skirting 21% 348.00 1.00 1.00 k utility (93sft per flat) 93.00 1.00 1.00	Residency Approved by: Rampr Prassad Sign: Sign: 2 Item Description Length Width Height Nos Quan 2' X 2' Skirting 21% 348.00 1.00 1.00 1.00 2.00 8 utility (93sft per flat) 93.00 1.00 1.00 1.00 1.00

.

ESTIMATE SHEET	-					
Company Name:	MRMLLP				Approved by:	Ramprasad
Project:	Gulmohar Residency	X.			Sign	
Work Description:	Vetrified Flooring	Vetrified Flooring and Bathroom tiles in 1660 sft flats at D-block	sft flats at D-blo	ck		
Contractor Name:	Janardhan Prasad					
Prepared By	P.Sai Kumar					
Date:	26.10.2022					
S No.	Item Head	Item Description	Ouantity Units	Rate	Amount	
1	vetrified flooring	SBUA 1660sft (68%)	1128.00 Sft		18,048	
		Skirting 21%	348.00 rft	16.00	5,568	
		(200sft per toilet)	400 Sft	18.00	7,200	
		Kitchen & utility	93 Sft	15.00	1,395	
		SBUA 1660sft (68%)	1128.00 sft	4.00	4,512	
		Skirting 21%	348.00 Rft	4.00	1,392	
	Kitchen & utility	(93sft per flat)	93.00 sft	4.00	372	
					38,487	

Bill for Labour Charges

Janardhan Prasad, Plot-no-42, Vinobha Nagar, Hyderabad.

Date: 25.10.22

In favor of:

MRMLLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

Tiles Laying

Towards:

Labour Charges

S No.	Description	Amount
1.	Brief description of work done: Tiles laying work in D-408 flats in D-block. Total Amount = 38,487 /- Work done from date 28.09.22 to date 17.10.22	Rs.7,697

Amount in words: Seven Thousand Six Hundred and Ninety Seven Rupees Only.

a.	
Sign:	

Allowance for Consumables

Janardhan Prasad, Plot-no-42, Vinobha Nagar, Hyderabad.

Date: 25.10.22

In favor of:

MRMLLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work: Towards:

Tiles work

Allowance for Consumables.

S No.	Description	Amount
1.	Brief description of work done: Tiles laying work in D-408 flats in D-block. Total Amount = 38,487 /- Work done from date 28.09.22 to date 17.10.22	Rs.15,394 /-

Amount in words: Fifteen Thousand Three Hundred and Ninety Four Rupees Only.

Sign:				
	Sign:			

Bill for Equipment Allowance

Janardhan Prasad, Plot-no-42, Vinobha Nagar, Hyderabad.

Date: 26.10.22

In favor of	ln	fa	vo	r o	f
-------------	----	----	----	-----	---

And the second second

MRMLLP

Project / Site:

Gulmohar Residency

Location:

Mallapur

Type of Work:

Tiles laying

Towards:

Allowance for Equipment

S No.	Description	Amount
	Brief description of work done: Tiles laying work in D-408 flats in D-block. Total Amount = 38,487 /- Work done from date 28.09.22 to date 17.10.22	Rs.15,394 /-

Amount in words: Fifteen Thousand Three Hundred and Ninety Four Rupees Only.

Sign:
Sign: